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1 Introduction:

This problem section refers to the notation/format of the operations in an equation. This source gives
good explanation, and real uses of this seemingly toxic topic.

1.1 Infix:

Infix refers to notation of writing the operators lying in between the operands. This is the normal
notation that we use. E.XX: A + B

1.2 Prefix:
In prefix notation the operator lies in front of the operands. E.X: + A B

1.3 DPostfix:
In postfix notation the operator lies behind the operands. E.X: A B +

2 Evaluation:

Evaluation of different notations can be quite confusing. One method to simplify the operation is to
insert parenthesis around each operation. Remember that each operation only applies to 2 numbers.
Solve the problem by taking apart the problem in layers and inserting parenthesis where each operation
falls in the later.

2.1 Identification:

The first step is to determine whether the equation is in prefix or postfix. One easy way to tell is if there
are operators leading or trailing the first and last numbers in the equation. If there are number leading
then it is prefix, and vice-versa for postfix.

2.2 Prefix:

-*DA/+BCD = -(*DA)/(+BC)D = -((*DA)(/(+BC)D)) = (D*A)-((B+C)/D) Multiply A and D and
subtract the quotient of the sum of B and C and D.

2.3 Postfix:

AB*CD/+ = ((AB *) (CD /) +) = (A*B)-+(C/D) Multiply A and B, Divide C by D, then add the
results


http://interactivepython.org/runestone/static/pythonds/BasicDS/InfixPrefixandPostfixExpressions.html

3 Exercises:

Not too many challenging problems in this topic can be written. It’s pretty straightforward

1.

2.

Evaluate: 9186273 / * + /242126 / + / /
Translate into infix: * + AD-+ BCE

Find all integer values of Y for which the following prefix expression has a value of zero
*+Y4-6Y

Given A=4, B=14 and C=2, evaluate the following prefix expression:
*/-+ABC*ACB

Translate the following infix expression into postfix:

(A- 5 + D)z
A+ B

Evaluate the following prefix expression, when A=10, B=2, C=12 and D=2:

+/1-AB21 /- CDJ/AB3/ + ACB

Convert to Prefix and Postfix
Infix Expression: ( AX + (B*C))
Infix Expression: ( (AX + (B*CY))/(D-E))

Infix Expression: ((A +B)*(C+E))
Infix Expression: ( AX * (BX * (((CY + AY ) + BY ) * CX ) ) )
: (

Infix Expression: ((H* ((((A+ ((B+C)*D))*F)*G)*E))+J)



Solutions to Section 3.1

. Infix Expression: (AX + (B *C))
Postfix Expression: AX B C * +
Prefix Expression: + AX * B C

. Infix Expression: ( (AX 4+ (B*CY ) )/
Postfix Expression: AXBCY *+DE-/
Prefix Expression: / + AX*B CY-DE

(D-E))

. Infix Expression: ((A+B)*(C+E))
Postfix Expression: AB + CE + *
Prefix Expression: ¥ + AB+ CE

. Infix Expression: (AX * (BX* (((CY + AY ) +BY)*CX)))
Postfix Expression: AX BX CY AY + BY + CX * * *
Prefix Expression: * AX * BX * + + CY AY BY CX

. Infix Expression: ((H* ((((A+((B+C)*D))*F)*G)*E))+J)
Postfix Expression: HABC+D*+F*G*E**J +
Prefix Expression: + *H*** + A* 1t BCDFGE]J
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